La Mcrci

Rentrée en seconde Equipe de maths
Résoudre une équation
Exercice 1 :
Résoudre les équations suivantes :
a) 3+x=8 b) -5+y=3 ¢) 9+z=-13 d) 6+w=2
e) 4-v=1 ) -3-u=-5 g) 8-r=-11 h) -7-x=9
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i) 3y=21 j) 6z=26 k) —=15 ) —=48
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m) v-4,5=5 n) u-8=-6 0) —=35 p) §=8
Exercice 2 :
Résoudre les équations suivantes :
a) x—-(-3)=-3 b) 3,5+y=-6,5 ¢) 48z=16 d) %=2,3
e) -1,6-v=8 f) ﬁ=7 g) x+(-9,5)=3 h) $=25
u
Exercice 3 :
Résoudre les équations suivantes.
a) 3x+8=9 b) 12=4x-8 ¢) Sx+8=3x-4 d) -5=9x+13
e) —13x+19=14x-80 f)15+45x=9x g) 4=3x-7

Exercice 4 :

Résoudre les équations suivantes.
a) 3x+8+7x=-10

d) 2+4x+(5+2x)=8-x

Exercice 5 :

Résoudre les équations suivantes

b) —x+4+6x=7x-9x

€) 3-(5-x)=—-4x-8

¢) 4x-1+2x+3=10-9x-3

f) 5(x-8)-3=6+4(2x+1)

2) X =z b)x+7=§ 0 X 11 d)x+2=x_—8
x+3 7 X 4 x-5 -5 2

Exercice 5 :

Résoudre les équations suivantes :

5x-T7=3x+2 2= 3

3(x-7)=2x-(5-2x) 404l 0

4a +11=3a-(5a -11)
4R-3=(2R-7)+2R

(3x-18)(2x+7))=0
3x—(12-4x)-2(x-15)=0

4_5x =% (5x+7)(4x-5)(x-12)=0
- N 3x(x-12)=0



